

Clairwood Logistics Park  
 Basil February Road  
 Mobern East  
 4060



Clairwood Logistics Park  
 Basil February Road  
 Mobern East  
 4060

http://www.lrsa.co.za

Liquor Runner Clairwood Clairwood

Selwyn@lrsa.co.za

**GRV for HALEWOOD INTERNATIONAL - LRSA NR: 3124 (GRV)**

Receiver: Morganathan  
 Checker: Morganathan  
 Warehouse: HALEWOOD  
 Sender Ref 1: 29566  
 WarehouseRecv: LR CLAIRWOOD  
 Sender Ref 2: 101946  
 Receive Date: 2025-02-17

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
----------	-------------------	-----	--------------	------------	------------

**Stock Received**

HRSENGY440ML	RED SQ VODKA ENERGY CANS LIMITED (24 X 44	FD25009		81	1944
HBELGINTON44	BELGRAVIA TONIC CAN (24 X 40ML)	FD25043		562	13488
HRSENGY27524	RED SQ VODKA ENERGY (24 X 275ML)	FD25032		78	1872
HRSPURPLE275	RED SQ PURPLE ICE (24 X 275ML)	FD25014		312	7488
HRSLUEZ27524T	RED SQ BLUE ICE (24 X 275ML)	FD25036		1326	31824
HOBROSENECTA	HOBNG ROSE NECTAR PACKED IN CARTONS 6 X 4	L41125T		2	48
HOBBLANCNTA	HOBNG BLANC NECTAR PACKED IN CARTONS 6 X	L41023T		2	48
HRSDVOKAPAPP	RED SQUARE VODKA PINEAPPLE (6 X 750ML)	FD24220		2	12
HDMFCOCONUT	DEADMANS FINGERS COCONUT RUM 1 X 750ML			1	6
HCTRUMSPCED7	C TWIST SPICED RUM (6 X 750ML)			3	18
HSKSTRA/CRE7	SIDEKICK STRAW CREAM (6 X 750ML)	L24110		3	18
HSKCOOK/CRE7	SIDEKICK COOKIES/CREAM (6 X 750ML)	L25037		32	192
HDMFRSRA5PRP	DEAD MANS FINGERS RATTLESHAKE POUCH (12	FD24162		1	12
HAPPELGOUEFO	APPEL GOUEFOUTE 275ML NRB DONKER RUM a	FD24261		1	24
HORISTRAW300	ORIGINAL ICE S/BERRY 12 X 300ML			9	108
HAPPELSTOUTE	APPEL STOUTE FOUTE 275ML NRB DONKER RUM	FD25031		1	24
HSKDP/FRUIT27	SKINNY D PASSIONFRUIT (24 X 275ML)	FD25017		2	48
HRRED27524T	RED SQ RED ICE (24 X 275ML)	FD25009		10	240
HBUFFELKOL66	BUFFELSFONTEIN and KOLA (12 X 660ML)	11/07/26		18	216
HORMARGA4X2L	ORIGINAL MARGARITA 4X2L	FD25029		4	16
HORMOJITO4X2	ORIGINAL ICE MOJITO (4 X 2L)	FD25034		3	12
HOIRCOSMOP4X	ORIGINAL ICE COSMOPOLITAN 4 X 2L	FD24331		9	36
HORISSLING4X2	ORIGINALICE SINGAPORE SLING 4 X 2L	FD24328		5	20
HORISTRAW4X2	ORIGINAL ICE STRAWBERRY DAQUIRI 4 X 2L	FD24035		68	272
HORIPINA4X2LTR	ORIGINAL ICE PINA COLADA (4 X 2L)	FD24347		11	44

Receiver: JBK288FS

Checker: MAFIKA

Driver Signature: \_\_\_\_\_

Checked By: \_\_\_\_\_

Transport Company: \_\_\_\_\_

17/02/2025 04:36:28 PM

1/2

Clairwood Logistics Park  
 Basil February Road  
 Moberni East  
 4060



Clairwood Logistics Park  
 Basil February Road  
 Moberni East  
 4060

[Http://www.lrsa.co.za](http://www.lrsa.co.za)

Liquor Runner Clairwood Clairwood

Selwyn@lrsa.co.za

**GRV for HALEWOOD INTERNATIONAL - LRSA NR: 3124 (GRV)**

Receiver: Morganathan  
 Checker: Morganathan  
 Warehouse: HALEWOOD  
 Sender Ref 1: 29566  
 Receive Date: 2025-02-17  
 WarehouseRecv: LR CLAIRWOOD  
 Sender Ref 2: 101946

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
HMUSGRVGINPI	MUSGRAVE GIN PINK (6 X 750ML)	FD25010		18	108
				2,564.00	58,138.00
				2,564.00	58,138.00
				Total QTY Received	
				2,564.00	58,138.00

Total QTY Received

2,564.00

58,138.00

58,138.00

108

Checked By: \_\_\_\_\_

Transport Company: \_\_\_\_\_

17/02/2025 04:36:28 PM

Receiver: JBK288FS

Checker: MAFIKA

Driver Signature: \_\_\_\_\_

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI 1501

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

TEL: +27 11 746 4200  
 FAX: +27 11 422 5888

VAT Reg No: 4590177624

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

Printed on: 10/02/2025  
 at: 9:40.08

12/02  
 Chef  
 LR.

INVOICE TO: Halewood - Johannesburg  
 Halewood International S A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

101946

DELIVER TO: Halewood - Natal  
 Halewood International S A - Natal  
 ERF 860 on DUNNS GRANT  
 Also known as 89 BARRIER LANE  
 KWAZULU NATAL PROVINCE  
 Office - 031 0231141

Shipping Instructions:



29566

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HN	1992169		07/02/25	10/02/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BELGINDLEM440ML	BELGRAVIA GIN & DRY LEMON RTD CAN 440ML @ 5% <i>Div No 7</i>	CS *	81	0	HH	269.73	21,847.98
BELGINTON440ML	BELGRAVIA GIN & TONIC RTD CAN 440ML @ 5% <i>Reserve</i>	CS	567	0	HH	262.75	148,976.77
RSBLUE27524T	RED SQUARE BLUE ICE NRB RTD 275ML @ 5%	CS	1,326	0	HH	204.57	271,256.23
RSENGY27524PIB	RED SQUARE VODKA ENERGY RTD NRB 275ML @ 5.4%	CS	78	0	HH	230.02	17,941.45
RSPURPLE27524T	RED SQUARE PURPLE ICE RTD NRB 275ML @ 5%	CS	312	0	HH	206.57	64,450.88
RSRED27524T	RED SQUARE RED ICE RTD NRB 275ML @ 5%	CS	10	0	HH	210.30	2,103.01
SKOP/FRUIT275	SKINNY DIVA PASSIONFRUIT RTD NRB 275ML @ 3%	CS	2	0	HH	174.54	349.07
ORISTRAW30012S	ORIGINAL ICE STRAWBERRY COCKTAIL POUCH 300ML @ 5%	CS	9	0	HH	133.61	1,202.50
CTRUMSPCED750ML	CARIBBEAN TWIST SPICED RUM 750ML @ 35%	CS	3	0	HH	610.82	1,832.45
SKCOOK/CRE750	SIDEKICK COOKIES CREAM LIQUEUR 750ML @ 15.5%	CS	32	0	HH	515.99	16,511.76
SKSTRAV/CRE750	SIDEKICK STRAWBERRY CREAM LIQUEUR 750ML @ 15.5%	CS	3	0	HH	501.33	1,503.98
HOBLANCNTARC250	HOUSE OF BNG BLANC NECTAR IN CARTONS 250ML @ 12%	CS	2	0	HH	730.44	1,460.88
HOBROSENECTARC250	HOUSE OF BNG ROSE NECTAR IN CARTONS 250ML @ 12%	CS	2	0	HH	730.44	1,460.88
RSVODKAPAPPLE750ML	RED SQUARE VODKA PINEAPPLE 750ML @ 25%	CS	2	0	HH	417.91	835.82
DMFCOCONUT750ML	DEAD MAN'S FINGERS COCONUT RUM 750ML @ 37.5%	EA	0	6	HH	122.46	734.78

\* Received 5 cases damaged & containing cans  
 17/02/25  
 742987  
 70  
 3124

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
 Company Registration number: 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200 BANKING DETAILS:  
 APEX EXTENSION 1 FAX: +27 11 422 5888 FIRST NATIONAL BANK  
 BENONI 1501 A/C NO: 62889748368  
 VAT Reg No: 4590177624 BRANCH CODE: 240129  
 PO BOX 2132 REFERENCE:  
 BENONI 1500  
 SOUTH AFRICA MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 10/02/2025  
 at: 9:40:08

**INVOICE TO:**  
 Johannesburg  
 Halewood International SA (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

**DELIVER TO:**  
 Halewood - Natal  
 Halewood International SA - Natal  
 ERF 860 on DUNNS GRANT  
 Also known as 89 BARRIER LANE  
 KWAZULU NATAL PROVINCE  
 Office - 031 0231141

Shipping Instructions:



CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HN	1992169		07/02/25	10/02/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
APPELSPCDRUM750	APPEL JAGTERS GEES SPICED RUM 750ML @ 35% DIV <i>NOT RECORDED</i>	EA	0	12	HH	120.21	1,442.52
MUSGRVGINPINK	MUSGRAVE GIN PINK 750ML @ 43%	EA	0	108	HH	155.60	16,804.36
RSENGY440MLTD	RED SQ VODKA ENERGY 440ML @ 5.4%	CS	81	0	HH	288.48	23,367.19
DMFRSRASPRPCH	DEAD MANS FINGERS RATTLESNAKE POUCH RTD 300ML @ 5%	CS	1	0	HH	117.86	117.86
APPELGOUEFOUTE275ML	APPEL GOUE FOUTE 275ML RTD NRB GEKRUIDE APPEL GEUR	CS	1	0	HH	207.65	207.65
APPELSTOUTEFOUTE275ML	APPEL STOUTE FOUTE 275ML RTD NRB DONKER RUM & COLA	CS	1	0	HH	228.65	228.65
OIRCOSMOP4X2LTR	ORIGINAL ICE COSMOPOLITAN COCKTAIL 4 X BOX 2LTR	CS	9	0	HH	239.08	2,151.70
ORIMARG4X2LTR	ORIGINAL ICE MARGARITA COCKTAIL 4 X BOX 2LTR	CS	4	0	HH	204.50	817.99
ORIMOJITO4X2LTR	ORIGINAL ICE MOJITO COCKTAIL 4 X BOX 2LTR	CS	3	0	HH	224.80	674.40
ORIPINA4X2LTR	ORIGINAL ICE PINA COLADA COCKTAIL 4 X BOX 2LTR	CS	11	0	HH	224.61	2,470.67
ORISSLING4X2LTR	ORIGINAL ICE SINGAPORE SLING COCKTAIL 4 X BOX 2LTR	CS	5	0	HH	257.61	1,288.07
ORISTRAW4X2LTR	ORIG ICE STRAWBERRY, DAQUIRI COCKTAIL 4 X BOX 2LTR	CS	68	0	HH	226.85	15,426.03
BUFFELKOL660ML	BUFFELSFONTEIN BRANDEWYN & KOLA RTD NRB 660ML @ 5%	CS	18	0	HH	264.89	4,768.06
DIVIDERBOARD-DISTRIBUTI	DIVIDERBOARDSDISTRIBUTION	EA	0	34	HH	5.22	177.48

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING		0	2,631	160
<b>SUB-TOTAL</b>		ZAR	622,411.07	
<b>VAT</b>		ZAR	0.00	
<b>TOTAL</b>		ZAR	622,411.07	

**CUSTOMER:**  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

**TRANSPORTATION:**  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

VEHICLE REGISTRATION NO: ..... PRINT NAME: ..... DATE: .....  
 SIGNATURE: .....  
 PRINT NAME: ..... DATE: .....  
 SIGNATURE: ..... DATE: .....

# Liquor Runners

Durban

## GOODS RECEIPT / ISSUE

No 55540

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)		DRIVER NAME
LR Transport	MAFIKA	
LOAD SHEET No:	VEHICLE REG No:	DATE RECEIVED
	2BK288FS	14-02-25
CUSTOMER	Halewood	

UPLIFNOTE

DESCRIPTION	RECEIVED	Cases Received	Units Received	REMARKS
1) MUSGRAVE PINK GIN 18 X 108	18 X	108		FA25010
2) 6 X 750 ml				
3) ORIGINAL SLAKEN	104 X			FA24347
4) PINK COLADA 4 X 2 L				
5) ORIGINAL SLAKEN	68 X			FA24035
6) S/BERRY DAIQUIRI				
7) 4 X 2 L				
8) ORIGINAL SINGAPORE	5 X			FA24328
9) SLING 4 X 2 L				
10) ORIGINAL SLAKEN	9 X			FA24331
11) CRANBERRY COSMO-				
12) POLINA 4 X 2 L				
13) ORIGINAL MOUTO	3 X			FA25034
14) 4 X 2 L				
15) ORIGINAL MURGAITA 4 X 2 L	4 X			FA25029
16) 4 X 2 L				
17) BURELS FONTAIN	18 X			11/07/26
18) 8 KO 12 X 660 ml				
19) Red SQ Red ICE	10 X			
20) 24 X 275 ml				
OTHER				
PALET CONTROL: GKN BLUE #1				
TOTAL				

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: MAATHI	DRIVER: MAFIKA	PAGE: 01	PAGE: 05
TIME COMPLETED:			

22:43  
23:20

# Liquor Runners

Durban

## GOODS RECEIPT / ISSUE

No 55541

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)		LOAD SHEET No:	CUSTOMER
34P		DATE RECEIVED	Halewood
VEHICLE REG No: 7BK 288 FS		14-02-25	

UPLIFTNOTE

DESCRIPTION	RECEIVED	Cases	Units	Damaged Cases	Damaged Units	REMARKS
1) SKINNY DIVA Passion 2x	✓	1				FD25017
2) 2x275ml						
3) Appel Stoute	✓	1				
4) FOUTE 24x275ml	✓	9				FD25031
5) ORIGINAL Iced S/BEER DRINK!						
6) 12x300ml						
7) Appel Goue	✓	1				
8) FOUTE 24x275ml	✓	1				FD24961
9) RATTLE SNAKE	✓	1				
10) Rum & Raspberry						FD24162
11) Side Kicks cookies	✓	3				
12) 8 cream 6x750ml	✓	3				LD25037
13) Side Kicks S/Berries 3x	✓	3				
14) 8 cream 6x750ml	✓	3				LD24110
15) C/TWIST superior	✓	3				
16) SPICED 6x750ml						
17) DEAD MAN'S FINGERS	✓	1	6			
18) COCONUT 6x750						
19) Red SO Pine Apple	✓	2				
20) PALET CONTROL: GKN 20 BLUE #1						
OTHER 14						
TOTAL						

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: NORTH DRIVER: MOPKA

TIME COMPLETED: \_\_\_\_\_ PAGE: 02 PAGE: 03

# Liquor Runners

Durban

## GOODS RECEIPT / ISSUE

No 55542

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle) \_\_\_\_\_  
 LOAD SHEET No: \_\_\_\_\_  
 CUSTOMER: Hale Wood  
 VEHICLE REG No: TBK 288 FS  
 DATE RECEIVED: 14-02-25

DRIVER NAME MATHIKA

DESCRIPTION	RECEIVED	Cases Received	Units Received	REMARKS
1) House of BNG	2 ✓			
2) Rose 4x250ml	2 ✓			
3) House of BNG	2 ✓			
4) NECTAR BLANC 4x250	2 ✓			
5) Red 50 Blue	1326 ✓			
6) ICE 24x275ml	1326 ✓			
7) Red 50 Purple Ice	312 ✓			
8) 24x275ml	312 ✓			
9) Red 50 ENERGY *	1326 ✓			
10) 24x275ml	1326 ✓			
11) BELGAVIA 6IN 8	567 ✓			
12) Tonic 24x440ml	567 ✓			
13) Red 50 ENERGY	812 ✓			
14) 24x440ml	812 ✓			
TOTAL				

PALET CONTROL: GKN	BLUE	#1	OTHER	TOTAL
20)				
19)				
18)				
17)				
16)				
15)				
14)				
13)				
12)				
11)				
10)				
9)				
8)				
7)				
6)				
5)				
4)				
3)				
2)				
1)				

CHECKED ON RECEIPT BY: MATHI  
 DRIVER: MATHIKA  
 PAGE: 03  
 TIME COMPLETED: \_\_\_\_\_

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

UPLIFTNOTE